HEEAEBREBENNESS  1I3FEENERD
AR
—gER A $1048314 2 137,510
BRA | BREE BRA BREE | BRA | BREE BRA | BHREE
Bva 50,000 [ =4 500 ||BREER 450 | |=H7T 2,500
MERES 2,640 |[E5E55 500 |[ZABIE 450 | RSIBEREEAR 12,000
MR 1,000 [[E5E& 500 |[F&E&E 450 | |FFE 5,000
=0OAL 1,000 |[EFE= 500 |[Fri53s 5000 | PeEEIRRExRAR 12,000
=0OAL 50 ||1ZEk 500 |[fh=I'iT 10,000 | |E0AL 50
=0OAL 300 [BHE 500 ||MERES 2,325 | |82 36,000
=OAL S0 |[EEs 20,000 (=h=38 10,800 | |E0AL 380
=0OAL SOfELAL 1,100 [[FEZRBERAT 9,853 | |IEL0AL 250
MEE 20,000 [frEmEs 3,120 (Bxkhe 200 | |EoAL 500
=0OAL 150 [[EoAL 100 || EE3H 200 | |Eo0AL 6,290
=0OAL 150 [[EoAL 1,000 |PE=RAR 200 | I3B=5 3,000
=0OAL 150 [[EoAL 500 |[z=FE3E 200 | |=kE 10,000
FRAE] 22,000 |=%= 15,000 |[#RER 200 | |Eo0AL 100
REE 6,000 |[~3] 12,000 |[E1&1= 2,000 | |5REIE 30,000
BREH 20,000 ||E0AL 7,000 [[BAERAT 2,000 | [EvAL 3,769
=OAL 12,435 [[RFE 20,000 ||ZRF57AR 4,000 | |=x%= 10,000
R E 1,500 [EoAL 100 |FRAE) 6,000 | |E=#H 500
S 500 |[BExEEARAT 60,000 ||Zi&{_ 1,000 | |E0A AL 171
== 500 ||E0A L 1,525 (5 2,000 | |E&t# 5,000
B 500 |[EoAL 333 |[FE#EE 1,000
RIS 5 500 |[FEXRARAE 6,000 [[#hF £ 1,000
MECE 500 [[FfE% 10,000 (&= 1,000
MR 500 |[#& LLEIFRABRAE] 30,000 ||t E 2,000
TR 500 ||lE0AL 900 [|E0AL 1,000
S 1,000 [EbAL 600 |22 1,000
1ZIEE 500 ||lE0AL 900 ||Br3a 1,000
i35 500 ||lE0AL 150 ||B84655) 3,200
THESE 500 ||lE0AL 300 ||E0AL 700
A 500 ||E0A L 100 |[Fri53s 1,000
MEE 500 |[EAL 900 |[fI &% 5,000
FBEIE 500 |[EoAL 900 |ER= 4,000
MEREE 500 |[EoAL 900 [I#k£Er 1,000
BE 500 ||E0A L 10 |[BB {8 2,000
B 500 [[ED AL 100 |E0AL 18,750
BB 500 |[EXZEERIIFIR) 3,000 |[E&/Lvia 100,000
R=B 500 |[EAL 2,182 |[fRE3&E 100,000
EREE 500 |[EAL 9,000 |[BExfm 6,000
WFE 500 ||HErRES 3,825 [ELAL 5,000
BERF 500 |[HER 450 (|shr=38 666
R 500 | =% 450 (IS 200,000
ZHF 1,000 |p&x:E 450 |3 1,000
gER 500 |IBEE 450 [[EOAL 150
Bl 500 [[RiEz 450 [PE#AK 40,000
= 1,000 ||B8 % %) 450 [T Ak 40,000
A= 500 |[z=pEt 450 [EBR 3,600
MIES 500 [firEE 450 |[fREE 500
MBR 500 |RBE 450 (IR S 5000
MIEIL 500 [[BFz% 450 [|=x=E 20000
ER1a 500 [EFR 450 fiEivta 50000
SR 500 [[B=iE 450
/IN&T| 155,475 NET| 219,945 /NET| 672,894 /Nar| 137,510




